NOTES

3.2 Product and Quotient Rule
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CALCULUS

Write your
questions here!

\Y

Find the derivative.
fx)=((x+4)2x—-5)
f)= X +3x - 20

£6J= 2x*3
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pPowis
FM\L

Find the derivative of the following.
fX)=0Bx?2+2x—-3)(x—-1)

= (GK +‘>\(x —l\ + (Zx1+ 3x-'§3(\\
= GP+Y¥ -2 3%+~ -3
SH=ax +ox-5

Evaluate
f(x) =Vx(3x* - 3)

Find f'(4)
o= () (35-3)+ () (1)
- 174 (32D < (6x)
= 35-ER L 2
702 2 -5 +6 3"
Find the derivative.
-5

f(x)_2x+1 ,

6= _(x-5) (’-""”3 (x-s) )(ox+)
(Ox +1)?
L () - (x-5) (o)
(ox+1)*

- 2xtl=2x*t0

| (Qﬂ-l-l)!
1

£ = Gray

'z (26 ox Y (x- 1) #(3xs 20 3)(x-1)

PRODUCT RULE
%(uv)— %u v+ u i\/
or

| /
ST uv+tuv

y=0Q2x 3 +4x+m)(4x+1)
l;bx— = d%’t (2 S+ om)(Ix) + (2 3adlx ""7)%( Yx+))
- (i)Y + (3408
= o4 g a4 + BX X

o = ~ox - g % 304 +y

QUOTIENT RULE

duv-u.
d _L_A_)_ de v (V] xl/
dx\V )™ V‘L
of

[}
v - uUu-v
-

vL




NOTES

SUMMARY:

Find the derivative of the following.

e )_3x+1
~ 3x J
:[Xs Qx'l. +— -QX

?r(x ——x + Lx?
' - _3 - -3
§'6)= -3x7- x

\ _ =3 1
‘Y(ﬁ‘)‘ 2yt ?3—

Horizontal Tangents

2
Find all horlzontal tangents for y =2
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2x2

3x+1

N _ 5L (a8 ) (3xu) - 268 i)

MK~ 2
(3;\-(-(3

_ dx (3x0) - Ox(3)
(3;&*'31

- 12% +4% ~lx*

Bx+i)*
= G)KD“‘ 4x
——-’,/1—‘
(3x+")

y:

¥

o @) () - ox (axerY
(’5,( «-l)-’
é_\{_: L{)([’_',x-e,\ -9&('&)
ax Rx+N
% - ’9X94 Ll\( - ox
(3x+1)?
EIL _ Ing"D’f
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Find f'(4) given the following:

A horizenia Jangat has o Sepe of 2o

2'_2'___ r:x°-9x
X T (ke
O= 9"!(0’“')

(37(1-!)1'

Zon Zon
Ixs-o)ex-|=0 Latec!
x=or bx=1

xX=%

. Hotizodal Famgals @x= °,%

Now,

here!

summarize :>
your notes

g4)=3andg'(4) = —
h(4)=—-1and h'(4) =5

£ = g(x) - h(x)
$'x) =g 0 - W)

f(x) =h(x) + 2
Slyy= Wua)+2

f(x) = g(x) + 2h(x)
§ (4= gu) + D(4)

'(u)= & (&) = W(4) =EN+a B ol
e = (- - [5) Say = | :Q: 2 ()
S = -7 © Sla) = |

_ k) f(x) = g(h(x)
fx) = PIe) | | |
§iip = R LB ) V= Woda M + W6 q ()

KR $'(4)= W (9 a(t) +\(4)q'(k)

$iwy= b H""[”),(’q‘;‘[qh o] = (5y(D+ )

- (D =) = 15 + 2

(3y? §'4y =17
- IS -2




